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] A B | BEB |kick oFf|=yFNo. wtEEH—R R PN =4 e
1 4H268| * | 1000 | 217 |&R VS B 1B T/%am

1 4H268| * | 1230 | 218 |AZH VS K% AR [ANBLLAEER|ER/BE4 AR
1 48268 £ | 1500 | 219 |[fEEI % VS 18 ABE/ KT

2 48298 X | 1000 | 220 |KE VS ER BRI/ %

2 48298 X | 1230 | 221 |4BF@ VS AEKR AR [ANBHLLAEER| KB/ SR BR
2 48298 X | 1500 | 222 |fERIT% VS B ER/ ABE

3 5838 * | 1000 | 223 |[A%E®E VS R I AR/fERE

3 5838 x | 1230 | 224 |&% VS K% BRET [—tonzf—vsorek|ags/mraT]  KEF
3 53| * | 1500 [ 225 [&R VS 1EHE B2E/ X%

4 58108 x | 10.00 | 226 |EEETZ% VS K ABHE/ER

4 58108 * | 1230 | 227 |&% VS 1&[E —FEl |—FERAESLAB|ERIT/ A%| 1ERF
4 58108 *x | 1500 | 228 |A#EE VS ER 2%/ 1M

5 58178 x | 1000 | 229 |[A%EH VS BE 12/ K&

5 58178 x | 12:30 | 230 [{fEEIT% VS AR BERET [n—tonzf—vsorek|AgE/g4| REI
5 58178 * 1500 | 231 |{&[@ VS K EEI/ AR

6 6828A| *+ | 1000 | 232 |X% VS AER ER/fEET

6 6H28A| *+ | 1230 | 233 |&E#& VS ER BRKET [n—ronzf—vsorek| KB/ ARR| BE
6 6H28HA| * | 1500 | 234 |4BF VS BRI BB/ ER

7 7858 £ | 10.00 | 235 |BR VS K% B&/EET

7 7858 * | 12:30 | 236 |AEE VS 1B A#EH | YURKR—YSUK |BR/KE | AEE
7 7858 * | 1500 | 237 |&% VS fERIZ _ _ ABH /1B

8 78268 x | 1000 | 239 [KE VS B R | DOAR—U 0" [@EL AR

8 7H268| *x | 12:30 | 238 [{EF VS AR BRDFENDT- K/ B4 BE
8 7H26H| £ | 1500 | 240 |mmTE VS A@EE HEBEE B/ R

9 78198 x | 10:00 | 241 [{ERE VS BE BR/ABE

9 78198 *x | 1230 | 242 | K% VS fERIIE BERET | n—honzrf—vsurex|fEf/ g% | \RIT
9 78198 *x | 1500 | 243 |[BR VS AR KE/HEET

10 8H30H| *x | 1000 | 244 |E% VS AEKR ER/fEET

10 8H30HA| *x | 1230 | 245 |K% VS 1E[F BEKE] |h—tonrd—vovrex(gs/ amm| K
10 8H30A| =+ | 1500 | 246 |BR VS fRREIE KEF/ 18




